

ITB No. 24-101672

ITB Name: Pump Repair Services (Three (3) Year

**Multiyear Contract)** 

## **BID TABULATION**

Bid Opening: July 26, 2024

**Price Schedule Opening: October 2, 2024** 

**Agent: Tiffany Reid** 

				Cole Tech	nology, Inc.
ITEM		ESTIMATED	UNIT OF	Cole recin	noiogy, inc.
NO.	ITEM DESCRIPTION	NUMBER OF UNITS	MEASURE	UNIT PRICE	EXTENDED PRICE
		SNAPFINGER FAC	CILITY	-	-
1	400 HP Fairbanks Morse "24" figure 5742 vertical shaft centrifugal sewage pumps, Serial no. K3E1-00678-0 through K3E1-060078-3, L24C1LK impeller.	12	ЕАСН	\$40,650.00	\$487,800.00
2	1400-GPM, 24" Dresser screw lift pumps located at the 9 side RAS.	9	ЕАСН	\$7,910.00	\$71,190.00
3	3500 GPM, 36" Dresser screw lift pumps located at the 10 side RAS.	9	ЕАСН	\$9,362.00	\$84,258.00
4	One (1) 150 HP Fairbanks Morse 7000w vertical turbine pumps designated P15A – P15C and two (2) 200 HP Fairbanks Morse 7000w vertical turbine pumps designated P15D & P15E.	9	EACH	\$12,900.00	\$116,100.00
5	5 HP 200 GPM Vaughn vertical centrifugal chopper pumps located in the scum pits.	6	ЕАСН	\$5,000.00	\$30,000.00
6	500 GPM Borger lobe pumps located in the WSB.	9	ЕАСН	\$8,847.00	\$79,623.00
7	Blackmer hose pumps located in the lower lime room.	18	ЕАСН	\$5,000.00	\$90,000.00
8	350 GPM Polymer hose pumps located in the bottom of the COB.	6	ЕАСН	\$2,550.00	\$15,300.00
9	33 HP 650 GPM Fairbanks Morse centrifugal thickener feed pumps located in the bunker room of the COB.	9	ЕАСН	\$9,957.00	\$89,613.00
10	150 HP Lamson blowers located in the basement of the aerated grit chamber.	6	ЕАСН	\$7,879.00	\$47,274.00
11	100 HP Lamson blowers located in the basement of the aerated grit chamber.	12	ЕАСН	\$6,879.00	\$82,548.00



		_	_		
12	75 HP Fuller blowers located in the gallery of the gravity filter.	6	ЕАСН	\$12,875.00	\$77,250.00
13	100 HP Fuller blowers located in the lime silo area.	6	ЕАСН	\$13,900.00	\$83,400.00
14	Delroyd mixer vertical gear unit located in the reactor tanks.	6	ЕАСН	\$2,550.00	\$15,300.00
15	Invent mixer vertical gear unit located in the mixing tank T-23.	3	ЕАСН	\$8,979.00	\$26,937.00
16	Invent mixer vertical gear unit located in the mixing tank T-26.	3	ЕАСН	\$8,979.00	\$26,937.00
17	Nord mixer vertical gear unit located in the lime slurry tanks.	6	ЕАСН	\$8,979.00	\$53,874.00
	LOWE	ER CROOKED CREEK	PUMP STATIO	ONS	
18	Worthington Model 12 MNV24 vertical shaft centrifugal sewage pumps; Level 1 – Basic Repair.	33	ЕАСН	\$15,500.00	\$511,500.00
19	Worthington Model 12 MNV24 vertical shaft centrifugal sewage pumps; Level 2 – Extended Repair.	33	ЕАСН	\$21,400.00	\$706,200.00
20	Worthington Model 12 MNV24 vertical shaft centrifugal sewage pumps; Level 3 – Complete Overhaul.	33	ЕАСН	\$31,350.00	\$1,034,550.00
21	Worthington Model 12 MNV24 vertical shaft centrifugal sewage pumps; OEM "Casing" for one pump.	33	ЕАСН	\$15,400.00	\$508,200.00
22	Worthington Model 12 MNV24 vertical shaft centrifugal sewage pumps; OEM "Impeller" for one pump.	33	ЕАСН	\$11,200.00	\$369,600.00
HONEY CREEK PUMP STATION					
23	125 HP Paco non-clog horizontal centrifugal sewage pumps.	9	ЕАСН	\$6,800.00	\$61,200.00
POLE BRIDGE FACILITY					
24	150 HP Goulds Model ECD16X18-26 vertical shaft centrifugal sewage pumps located in the IPS.	9	ЕАСН	\$25,500.00	\$229,500.00
-	<u></u>				



		-			
25	150 HP Goulds Model ECD 20X24-32, Serial No. PM35150-51 located in the IPS.	6	ЕАСН	\$28,400.00	\$170,400.00
26	3 HP WEMCO hidrostal pumps, Model D3K-M-DOSM, located at the RAS/WAS Building.	12	ЕАСН	\$4,330.00	\$51,960.00
27	100 HP WEMCO hidrostal pumps, Model H12K-SS-H4SM, located at the F-10 RAS/WAS Building.	12	ЕАСН	\$9,964.00	\$119,568.00
28	Byron-Jackson vertical turbine pumps Model 8 GH.	3	ЕАСН	\$11,350.00	\$34,050.00
29	Byron-Jackson vertical turbine pump Model 11 MQ.	6	ЕАСН	\$17,724.00	\$106,344.00
30	Byron-Jackson vertical turbine pump Model 16 DH.	15	ЕАСН	\$26,960.00	\$404,400.00
31	Byron-Jackson vertical turbine pump Model 12 DH.	6	ЕАСН	\$17,724.00	\$106,344.00
32	New Replacement Shaft for Model 8 GH.	3	ЕАСН	\$2,250.00	\$6,750.00
33	New Replacement Shaft for Model 11 MQ.	3	ЕАСН	\$2,250.00	\$6,750.00
34	New Replacement Shaft for Model 16 DH.	3	ЕАСН	\$2,250.00	\$6,750.00
35	New Replacement Shaft for Model 12 DH.	3	ЕАСН	\$2,250.00	\$6,750.00
36	WEMCO grit, Model 3X3 "C" torque flow horizontal sewage pump located at the F-03 Headworks Building.	6	ЕАСН	\$3,900.00	\$23,400.00
37	10 HP Lobe-Flo lobe pump, Model GP 503/PGC.	6	ЕАСН	\$20,276.00	\$121,656.00
38	Roots/Dresser Model WhispAir 1021-RAS-JV, blower, pressure lubricated located at the Sludge Building.	12	ЕАСН	\$31,645.00	\$379,740.00
	-			•	



		_	_		
39	Roots/Dresser Model 624-RAM-J, blower, pressure lubricated.	6	ЕАСН	\$10,448.00	\$62,688.00
40	WEMCO hidrostal screw centrifugal pump, Model E5K-H-E2W, Serial No. 01DW03231-01 and 02; Repair to include all bearings, seals, shafts, sleeves, mechanical seals, gaskets, O-rings, impellers, and shims.	12	ЕАСН	\$8,300.00	\$99,600.00
41	1000 HP 24 MGD Peerless horizontal split case.	36	ЕАСН	\$48,200.00	\$1,735,200.00
42	300 HP 19 MGD Layne & Bowles vertical turbine pump.	24	ЕАСН	\$37,580.00	\$901,920.00
43	50 HP 5 MGD Layne & Bowles vertical turbine pump.	12	ЕАСН	\$25,300.00	\$303,600.00
44	60 MGD Goulds vertical turbine pump.	9	ЕАСН	\$86,500.00	\$778,500.00
45	22 Submersible Flygt pumps ranging from 5- 134hp located at the following lift stations (Baranco (5hp), Browns Mill (7.5hp), Browns Mill 2 (5hp), Norris Reserve (35hp), Pennybrook (30hp), River Vista (5hp), Stone Mill 1 (134hp), Stone Mill 2 (130hp), Stoney Creek (75hp), Turnbury (7.5hp)	66	EACH	\$2,200.00	\$145,200.00
46	16 Submersible ABS pumps ranging from 40- 295hp located at the following lift stations (Hearn Road (40hp), Honey Creek (295hp), Honey Creek B (47hp), Johnson Creek (139hp), Lithonia (248hp)	48	ЕАСН	\$2,200.00	\$105,600.00
47	2 Submersible ShinMawa pumps locate at the following lift station Tucker Library (7.5/3hp)	6	ЕАСН	\$2,800.00	\$16,800.00
TOTAL for Line Items N		No. 1 – 47 (for evaluative purposes only)		\$10,592,124.00	
RATES FOR MISCELLANEOUS SERVICES					
ITEM NO.	ITEM DESCRIPTION	UNIT		UNIT PRICE	
48	Regular time hourly labor rate for Pump Mechanic.	HOUR		\$79	0.00
49	Emergency hourly labor rate for Pump Mechanic.	HOUR		\$95	5.00



50	Regular time hourly labor rate for Machinist.  HOUR		\$79.00	
51	Emergency hourly labor rate for Machinist. HOUR		\$95.00	
52	Regular time hourly labor rate for Semi-skilled Assistant.		\$70.00	
53	Emergency hourly labor rate for Semi-skilled Assistant.	HOUR	\$79.00	
54	Hourly labor rate for services provided outside of contract. (discounted hourly rate)		\$95.00	
<u>M:</u>	ark-up: Bidder state <i>Percentage Above Invoice Co</i> maintenance/repa			
	Any pump that is not listed must be s	15.00%		
LSBE	Participation Benchmark/GFE	GFE		
	dance at the Mandatory LSBE Meeting (Yes/No)	Yes		
Separa	ate Sealed Price Schedule (Yes/No)	Yes		
Numb	er of Bids Received:	2		



NOTES - DETAIL JUSTIFICATON			
Recommend Award to:			
Cole Technology, Inc., 3980 Martin Luther King, Jr. Drive, Atlanta, GA 30336			
Only responsive bids are tabulated.			

Agent Signature: Tiffany Reid	
Witness Signature:	Purchasing Manager Signature: